S 6 FE /NSRR—VItBETOY 7 EKHES
ROE(FR)

(=I:5) SMOFIA14B () 1BEW0T ~ 168302

CS) EBELEREETE Y- NTB2T 80 RFE

(Shn&]) LBETOY IR ZAR—YITEEHE, /NS AR-VHRIESE,
NS ZAR—ViEEEGEZRELE F
AR—YT BERAR—YVER BEE AR VIREE
BANSZAR=YHz AR—YH#EEE

(1 #] TZERE] (RF) BRNSZAR—YHE R—VHERR &F ==
MExts | NS AR—VILBET Oy V&EgiHEs J0Ov IEHR

| [E—2B) <IBMIMH> (45%) | 13:05 ~ 13:50
1. TRIR=YFICH T EHH 6 FEREEEIAR—VIREREKICDWLW T (15 EE)
AR—YF BERAR—YER BEEEHEIAR—VIREE

2. 96 FE BEEBIRN—VREERICOWVWT] (15 91E2E)
3. TRSRAR=YVEII—DEE - #BHDS LUHKEREICDWVT] (15 P1EE)
PHPEEANBRNS AR—VHE AIR—VHEES

~ &8 (109) ~

(=8 <5t &>  (130%) ] 14:00 ~ 16:10
1. HEBEIOYZICHIFB NS RR—Y (T BRI
AT NS RR—VALEBETOY 7EkmES JOvISER
XJOVIICLDRRERIE GEEE7 2V T—FKXURE)
2. 1IN —"TF714RXhv3]

[[(Z0fh] <3|EZ> (159) ] 16:15 ~ 16:30
1. REFE (FE)
2. REIDFEEIZDNT
3. AIR—=YFHSDIXT bk
4. BEOKRE (AF) BENSRKR—YHRE R—VHERE EE ==




